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waw | prx| BB |1 R | HER B 2 8 | yems | simw

e | U | BUE | pow |8 AT e u| B0 san
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£ = 6.3 129 A65 18 0.8 19.3 9.5 10.0 33 2.7 0.6 41 15
s B2 5.7 135 A77 2.5 038 16.4 8.9 7.1 3.7 3.0 06 34 13
TN 55 123]  A6.7 33 0.8 16.3 6.6 9.8 33 25 0.8 3.1 1.3
ERmEm 6.2 10.1]  A39 - - 5.7 28 28 - - - 3.2 1.2
R 55 110 A55 7.3 18 232 12.6 10.8 7.3 55 18 34 14
3w A5 BT 6.0 130 A70 - - 20.4 - 20.4 - - - 33 1.5
= Snfr 9.7 133| A35 - - - - - - - - 30 16
BT 5.1 147  A96 - - 19.6 - 19.6 - - - 1.9 0.6
AT 38 251 A214 - - - - - - - - 16 0.9
J\EEET 41 18.1| A14.0 - - 24.4 - 24.4 - - - 1.8 1.2
&)1 ET 2.1 245| A224 - - - - - - - - 2.0 1.0
ES=1Es) 36 185 A14.9 - - - - - - - - 2.6 05
THE R 48 134 A86 - - 238 - 238 - - - 3.0 1.1

<EHELEOEWBFHE>
H4-FET - 3R - B IR = 1 M DB 3108 1 BIRAD A O x 1,000
BREME=(EROHER—1EHOETEH) 108 1BRAED A D x 1,000
EER(BARWER ATRER)=E(BR- ALK/ HE (HBE+EE) # x 1,000
AR CERGFERETCE REHFERECR)=ARECHEFER - BHFHFERETE).HEH x 1,000
BEME LR =1 IRH22:8 LI O ER+ B EIRIFE T H B £ $+1T IR%22:8 LI O JEE £k x 1,000
YRR 2 258 LA D BB 3 = 3R IR 22:8 LABR D FE A S 7 (A 3+ 1 iR 2258 LARE D SEEE 1) x 1,000

KEFIAOFH,
EERVEOHIERT, EEFBHELKIE.
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BB RUOHETH . §M4E108 1 BRAEMS A D (BHETER)




